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Question: 1

An integration developer is implementing a query table to provide flexibility and performance in an
integration solution
Refer to the exhibit:
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What should the integration developer consider when implementing this solution?

A. TA (TASK) table is an attached query table.

B. MYCOMPANY.MYTASK is the primary query table.

C. Queries using this query table will return task instances even if they are not associated with a
process instance.

D. The query table definition file that is installed with the product needs to be customized by using
predefined tables in the Business Process Choreographer database schema.

Answer: C

Question: 2

An integration developer needs to ensure that instances of a BPEL process are only started by
administrative users.
What does the integration developer need to do to meet this requirement?

A. Use an administration task in the BPEL process and assign the Administrator role to those users.

B. Use an administration task in the BPEL process and assign the Potential Starters role to those
users.

C. Use an inline invocation task in each initiating receive operation and assign the Potential Owners
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role to those users.
D. Use an inline invocation task in each initiating receive operation and assign the Potential Starters
role to those users.

Answer: D

Question: 3

An integration developer needs to implement escalations for tasks that are not completed on time in
an integration solution.
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Which behavior can the integration developer expect with the above implementation?

A. Escalation 2 will not be thrown if Escalation 1 executes.

B. Escalation 2 is thrown when the task moves to claimed state.

C. If Escalation 2 is thrown, it will occur before Escalation 1 is thrown.

D. If Escalation 1 is thrown, it will occur before Escalation 2 is thrown.

E. Escalation 1 is thrown when the task does not move to claimed state within the specified duration.

Answer: D, E

Question: 4

An integration developer is planning to create a business process for a customer that will support
their hiring procedures. There is a requirement for the business process to allow hiring managers to
review submitted resumes before making any personnel decisions. The hiring manager must also be
allowed to send resumes to other managers and to collect all of the recommendations before
making a final decision. The integration developer has decided to use BPEL for the process
implementation along with a human task for the manager reviews.

What approach should the integration developer take while implementing the human tasks?

A. subtasks, but avoid the auto-deletions settings because they are not supported for subtasks.

B. subtasks, and define escalations only for the parent task because the subtasks cannot have their
own escalations.

C. follow-on tasks, and ensure that the output message types of each of the follow-on tasks is
identical to that of the parent task.

D. follow-on tasks, but avoid taking steps to delete the task because follow-on tasks are automatically
deleted when their parent task is deleted.
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Answer: A

Question: 5

An integration developer needs to implement a human task in an integration solution.
If reusability is a priority, then the integration developer should develop:

A. a collaboration task, since it can be a parent task.

B. an administration task, since it is a reusable activity.

C. a to-do task, since it has access to the process context.
D. an invocation task, since it can be attached to a process.

Answer: A
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